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An3wers anyflv. questiona Inol(dlng qur. on No.01

1. The following table glvra lhe deiails of timo and cost estimates of act{vities ofa project

TIIE!lDAYS)

1-2 5 6 1 3

1-3 I 10 2 2

1-4 l6 ' 1.1 1 7

1 6

'12 15 3 2

3-4 I 6 2 2

4-5 7 I

4,6 ll l3 3 3

4-7 10 12 2 6

5-6 I 11 2 3

6-8 I 3 1

7-8 ' 10 13 2 5

{
Fine cost is 500/= per d{y

!i
You are required to

6) Calculate and stato tha llm6r lor complellon on normal.basics

b) Calculale and stat6 hA Crltlcal path or paths on lhis basic and normal cost

c) Calculate and state lho cosl of completion in the shorlest possible lime and associated cost.

d) Tolal cost of each acllvlly (28 [,larks)



2

!

Cols,der the lollowinq dala for lhe k6nsDortallon probtem

{tl {?, Fl

1 7 10

B 6 4 6 50

c 3 2 5 15

Demand 75 20 50

Since lhere is nol enough aupply 6ome ot lha demands al lh6 lhree deslinaliorc may nol be

satislied for the unsatistied demandi, Lel lhe penally cosl be rupees 1, 2 and 3 for deslinations

(1). (2) and (3) respectlvoly,

Find the optima' allocation lhal rnlnlml!es lhe lransporlalion and penalty cosls.

. Use the VAM method lo lnillal allocalion

. Use the MODI method lo opllmallly le3t (20 Marks)

'3. Trmber Lld has products sola & chql[, To prod^uco on6 unll of sofa two unitd of materlal X & A

units of material Y are Gqulftd. To produco ono unlt ol chak lh.ee unlts of material X and lwo

Lrnits of material Y arc raqulrud. As lho raw mateial ls ln short sLrpply nol more than 16 units of

each malerial can be usad. The cosl per unil ofmalerialX and malerialY are Rs 2.50 and Rs

0.25 respeclively. Al leasl two unlls ol sota m!31 be produced and sold.

You are required

To formulale math6mgllcal model. I

To solve lt for mlnlmum cosl (Graphically) (20 Marks)

A solicitor flrm employs lyplglS on hourly plece basic for lhek daily wo*. There are llve tyPisls

for iervjce and theh chargot and rpoeds ere dllferenti According lo 6n early understandlng only

on4ob is given to one typlgl 8nd the lyPlsl ls paid lor tull hourc. Find tho least cosl allocelion tol

l.

2.

4.

the following data.

iA*ao!i
6 12 F 199

B 6 11 o 175

c I I R 145

D I 10 s 298

v a 11 T 178

(t6Marks)



Oescribe the tollowlng

a. AssumptionsotNslworkAnalyslr.

b. Totat fot of an a9flvlly,

c. Assumptionof ,hv€nlorycontrol.

d. Dummy actlvfty and crlllgalFqth.
{16Ma.ks)

A urm ls abte to oblajn quan ly dl.co|lnts on lls ofdor ofmatertal and shown in table.

Lers lhan 250

2b0 d less lhan 80O

000 and less then

and lo33 lhan ,t000

4000 6nd over

The annualdemand tor lh! msledal ls 40OO tons.

Slore holding costs are 20 ppfcanl pef y€ar ofmalorlal cost

The delivery cost per orclcr it Rs 6.OO

Calculatolhe best euanllly lo Ordor?

I

(16Marks)
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